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TRANSFORMATIONS
SYNOPSIS AND FORMULAE

sin C + sin D = 2sif” P .cosC;D .
C+D . C-D

sin C —sin DZZCOSZ— .sm?.

cos C+cos D= chs;—D . cosc;zD.

cos C — cos D:ZSL%;—D . sin D;C

2sin A cos B = sin(A + B) + sin(A — B)

2cos A sin B =sin(A + B) — sin(A - B)

2cos A cos B = cos(A + B) + cos(A — B)

2sin A sin B = cos(A — B) — cos(A + B)
(Or)

cos(A — B) — cos(A + B) = 2 sin A sin B.

SinA +sinB _ A+B
. — = tan( )-
SINA-sinB 2
If sin A+ sin B = x, and cos A + cos B = y.€rh
i) tan(> By =X

2 y
i) sin(A + B) = —2Y_

y©+x

2 2
i) cos(A + B) =L,
yZ+Xx

2Xy

y2—x2

If A+ B+ C =180then
i) sin 2A + sini2B + sin 2C =4 sin Asin Bsin C

i) sin 2A + sin2B —sin2C =4 cos Acos Bcos C

iv) tan(A + B) =

lii) cos2A+ cos2B + c0s2C = 1 — 4cosA cosB cosC
IV) C0S2A + c0s2B — cos2C =1 —4sinAsin B cos C
V)sinA+sinB +sinC = 409%‘, cos% cos%

vijsinA-sinB+sinC=4 sinAZ— cos% sin%

vilcosA+cosB+cosC=1+4 s'i‘nsin% sin%

viii) CosA + cosB —cosC=1+4 ce';‘s cos% sin%

ix) COSA + co$B + codC = 1 — 2 cos A cos B cos C.
X) SirfA + sirfB + sirf C = 2 + 2 cos A cos B cos C.
www.sakshieducation.com



Xi) sit2 +sit2 +sits =1 - 25t sinS sinS
2 2 2 2 2 2

Xii) co22 +cogB +c02C =2+ 2sif sinB sin&
2 2 2 2 2

12. If in a triangle ABC, c@sA + co$ B + co$ C = 1 (or) sifA + sirf B + sirf C = 2 then the triangle is
right angled.

13. If in atriangle ABC, angles A, B, C are in AtRen B :A—;C and B = 60,

14. If sin(y + z — X) , sin(z + X —y), sin(x + yz} are in A.P. then tan x, tan y,
tan z are in A.P.
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